SAMPLE QUESTION PAPER
Physics
Class-XII
Time allowed :- 3.15Minutes Full Marks - 70
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English Version

Short questions:-
1). There are 30 questions in all in this question paper. All question are Compulsory.

11) The are four sections : A, B, C and D in this question paper.
iii) Section. A Contains eight questions of 1 mark each.
Section-B Contains ten questions of 2 marks each.
Section-C Contains nine questions of 3 marks each.
Section-D Contains nine questions of 5 marks each.

SECTION - A
1. (a) How much electric flux will come out from a closed surface which encloses an electric dipole? 1
2. (a) The number of free clectrons per unit volume of a metallic conductor is n and the drift velocity
of these electrouns is V , then 1
A)V,an B)V,o— C)V,an® D)V,a-L
3. (a) What will be the equivalent resistance between Aand B of the bridge circuit shown in the given figure? 1
30 40
A B
6Q 8Q
4. (a) Magnetic susceptibility of a substance is positive and of high value. The Substance is-
A) Ferromagnetic Substance B) Paramagnetic Substance. C) Diamagnetic Substance
D) Non magnetic Substance. 1
8. (a) What is the peak value of electro motive force of 200 volt a.c. 1
6. (a) Aray of light is travelling form denser to rarer medium. If the velocity of light in rarer medium in

twice that of the denser medium then the critical angle of the denser medium will be-

A)30° B)60° C)45° D)75° 1

7. (a) What is the name of the Component in dicated by X in the block diagram of transmitter of
communication system?

N
rd

] Antena
+} X Transmitter

o 2T
Microphone

8. (a) The height of a television tower is h. If the radius of the earth be R then what will be the range
of transmission coverge? 1
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SECTION - B

Two point charges 4Q and Q are seperated by 1 metre in air. At what point on the line joining

the charges, is is the electric field intensity Zero? 1
Establish the relation between potential difference and electric intensity. 1
Find the value of the current passing through a shunted Galvanometer. 1

A circular coil is colsely wound with x turns and radius r carries a current |. Write the
expression for the following
i) The magnetic field at the centre of the coil.
ii. The magnetic moment of the coil. 1+1

Calculate the resultant earth’s magnetic field and its vertical component at a place where

the angle of dip is 60° and horizontal component of earth’s magnetic field is 0.3 G. 1+1
OR

How will you convert a moving coil galvanometer into an ammeter of certain range? 2
The equation of on an alternating current is given by 1=10 Sin (200 < t - L.¥ YA,

Find the frequncy and peak value of the current. 15 1+1
For the same value of angle of incidence, the angle of refraction in three media A, B, and

C are 15°, 25% and 35° respectively. In which medium wonld the velocity of light be minimum

and why? 1+1
An electron is accelerated from its rest position by pasing it through a potential difference of

V Volt. What will be the de-Broglie wave length of the electron? 2
The given figure shows the variation of stopping potential (V) with the frequency (v) for two

photo-sensitive materials M, and M,,.

II\'/i1
| M,
VO /
v = i

i) Which metal has higer work function?
ii) For which material will the emitted electrons have greater kinetic enrgy for the incident

radiation of the same frequency? Justify. 1+1
Draw the circuit diagram of a forward bias p-n diode and describe its working principle. 1+1
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SECTION - C

Five capacitors of capacitance 10 mF each are connceted between A and B as shown in the
figure. Calculate the equivalent capacitance between the points A and B.

V-1 graph for parallel and series combination of two metallic resistors are shown below.
Which graph represent parallel combination? Give reason for your answer.

e

State Biot - Savart’s law and define one tesla from this law.

OR

State Ampere’s circuital law and find aut the magnetic field prodnced due to a long straight
current - carrying conductor with the help of Amper’s circuital law.

Name one source and one use of each of infrared rays, ultraviolet rays and radio- waves.

1+2

2+1

1+2

(521 BH3)

Three light rays red (R), green (G) and blue (B) are incident on XY plane of a right angled prism

XYZ. It the refractive inclices of the malerial of the prisms for red, green and blne colour of light
are 1.39, 1.44 and 1.47 respectively, then out of three ray of which colour will emerge ont of the

face XZ7? Justify your answer.
X

B+
G —>—
R — >
45°

% z

Derive the lens Maker’s formula.

Use Bohr’s postulate on hydrogen atom to deduce the expression for total energy of the
electron revolving in the nth orbit. What is the meaning of negetive value of total energy?

State and deduce radioactive decay law. Define disintegration constant from this law.

142

2+1
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28.

29.

30.

What are analog and digital signals? Between these two which one is used in modern
communication system? (1+1)+1

SECTION -D

(a) What is transformer? Write its working principle. Write the expresion of turns ratio of a
step-up transformer. (1+1+1)
(b) Whta is called the resonance of an LCR series circuit? Mentin its condition. (1+1)

OR

(a) Write Faraday’s Laws of electromagnetic induction. Define mutual inductance between

two coils. (2+1)
(b) A 25 mF capacitor, 0.10 H inductor and a 25.0Q resistor are connceted in series witn

an a. c. source whose e.m.f. is given by E=310 Sin 314t. Here E is in volt and t is in second.

Calculate the reactance and impedence of the circuit. 2
(a) Draw the intensity distribution graph for diffractim due to a single slit. 2
(b) Obtain an expression for fringe width in Young’s Double slit Experiment. 2
(c) Strte Brewster’s Law of polarisation. 2

OR
(a) Show experimentally that light waves are transverse in nature. 2
(b) Write expression for the path difference between two waves for destructive interference. 2
(c) Write two differences between interference and diffraction of light. 2

a) Draw the circuit diagram of a common emitter amplifier using an n-p-n transistor and show
graphically the input and output voltage 2+1
b) Identity the logic gates marketd by x and y in the following figure. 2

A —

) x ) ;(f;,
B A XA

OR
a) What is Light Emitting Diode (LED)? Write its one use. 1+1
b) Draw the logic Symbol of NAND - gate and write its truth table. How NAND- gate can be used
to get '‘AND’-gate? 2+1
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PHYSICS - CLASS- XII- PRACTICAL
Marks distribution of section A and Section-B of Physics practical.

Section-A. Marks

1. Setting up of apparaturs 1

2. Principle or working formula 1

3. Circuit diagram. 1

4. Recording of data with graph if there be any 1

5. Calculations 1

6. Results. L

6. Accuracy 9%
Total = 08

Section- B. Marks

1. Setting up of apparatus 1

2. Principle/Working formala 1

3. Recording of data with graphical representation and ray diagram if there be any 3

4. Calcnlations 2

5. Results L

6. Accuracy %
Total = 08

For Practical Record (Experincent and activities) 06

Project

Viva on experimentts & Project

INVESTIGATORY PROJECT

FOR PHYSICS- CLASS-XIl- PRACTICAL

Each Science Student Should perform only one project.
1. To find the refractive index of

a) Water b) Qil (transperent) using a plane wrirror, an equi-convex lens (glass) and an adjustable object needle.
2.To design an appropriate Logic gate combination for a given truthtable.
3. To investigate the relation between the ratio of i) output and input vollage.

i) No. of turns in Secondary coil and primany coil of a self designed trans former.

4. To investigate the dependence of angle of deviation on the angle of incidence using a hollow prism filled one
by one with diffent transparent liquids (any two).

5. To estimate the charge induced on each one of the two identical pith balls suspended in a vertical plane by
making use of conlomb’s law.

6. To construct a switch using a transistor and to draw the graph between the input and ontput voltage and
mark the cut off saturation and active regions.
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